Production

All production involves the combination of fixed inputs and variable inputs.

Variable Inputs – can be adjusted in both the short run and the long run.

Fixed Inputs – cannot be adjusted in the short run.  Can only be adjusted in the long run.

In the short run, to increase output, the firm must increase its use of variable inputs.
Short-run Cost Curves
Marginal Cost (MC) = Change in total cost associated with producing one more unit.  Additional cost of an additional unit.

total cost (tC) = fixed cost (FC) + variable cost (vc)

tc = vc + fc

Average Total Cost (ATC) = TC/Q

Average Variable Cost (AVC) = VC/Q

Average Fixed Cost (AFC) = FC/Q

ATC = AVC +AFC

Drawing Short-run Cost Curves
Average Fixed Cost (AFC) = FC/Q
Fixed inputs cannot change in short run, so fixed costs cannot change in the short-run.  Since FC cannot change, then FC/Q will get smaller and smaller as Q gets bigger.

Marginal Cost (MC) 

Change in total cost associated with producing one more unit.  Additional cost of an additional unit.
It should be u-shaped, essentially the inverse of the Marginal Product curve.  As the MP↑ the MC↓, and the MP↓ the MC↑.  The marginal cost curve is shaped by the marginal product curve.  The MP curve is shaped initially be team production be eventually by the law of diminishing marginal product.

Average Variable Cost (AVC) = VC/Q

In the short-run, to increase output the firm must increase variable inputs.  Therefore, Variable Cost will increase with output.

Rules:
1) AVC should be u-shaped.

2) AVC should cross MC where AVC reaches its minimum point.
Average Total Cost (ATC) = TC/Q

ATC=AVC+AFC

Rules:

1) ATC should be u-shaped (not symmetrical).

2) ATC should cross MC where ATC reaches its minimum.

3) ATC should be above AVC at all points.

4) ATC should get closer and closer to AVC as we move left to right.

5) ATC should cross MC to the right of where AVC crosses MC.
